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Chapter: Matrices, Module 2, Worksheet-1

. Prove that (AB)’ is not same as (BA)’.

. Show that A’A and AA’ are both symmetric matrices for any matrix A.
1 2 1 2

. IfA=14 1|,B=]6 4|12,thenverifythat:(i)(2A+B)'=2A"+B'(ii)(A-B)'=A"-B'
5 6 7 3

. Show that all the diagonal elements of a skew symmetric matrix are always zero.

. . If AB = BA for any two sqaure matrices, prove by mathematical induction that (AB)" =
A" B"

. If A, B are square matrices of same order and B is a skew-symmetric matrix, show that
A'BA is skew symmetric.

. Verify that If A is skew symmetric matrix, then A2 is a symmetric matrix.

1 4
_Givena=|%¢ 4 0],B= 2 8l|.1s (AB) = B'A"?
3 9 6 s

.If A is 3x4matrix and B is a matrix such thatA'Band BA"are both
defined, then B is of type
(A) 3x4 (B) 3x3 (C) 4x4 (D) 4x3

10. A and B are two matrices of order 3x3 so that AB=A, and BA=B. Then

(A+B) =

a) 7(A+B) b) 71, c) 64(A+B) d) 32(A*+B?)




